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')G	�)�D=�*��+��	7'	&�7)��F7E)�)+��+7S+��	��1��	�W+�+�
��H�I� FD�H)I� F-�H)I� F;�H)I�
0,001 570,63e�$185,41 -445,89e�$401,48 -124,75 3�$586,89 
0,002 485,41e�$352,67 -548,13e�$244,04 62,72 3�$596,71 
0,003 352,67e�$485,41 -596,71e�$62,72 244,04 3�$548,13 
0,004 185,41e�$570,63 -586,89 3�$124,75 401,48 3�$445,89 
0,005 0,00e�$600,00 -519,62 3�$300,00 519,62 3�$300,00 
0,006 -185,41e�$570,63 -401,48 3�$445,89 586,89 3�$124,75 
0,007 -352,67e�$485,41 -244,04 3�$548,13 596,71e�$62,72 
0,008 -485,41e�$352,67 -62,72 3�$596,71 548,13e�$244,04 
0,009 -570,63e�$185,41 124,75 3�$586,89 445,89e�$401,48 
0,01 -600,00e�$0,00 300,00 3�$519,62 300,00e�$519,62 
0,011 -570,63 3�$185,41 445,89 3�$401,48 124,75e�$586,89 
0,012 -485,41 3�$352,67 548,13 3�$244,04 -62,72e�$596,71 
0,013 -352,67 3�$485,41 596,71 3�$62,72 -244,04e�$548,13 
0,014 -185,41 �3�$570,63 586,89e�$124,75 -401,48e�$445,89 
0,015 0,00 �3�$600,00 519,62e�$300,00 -519,62e�$300,00 
0,016 185,41 �3�$570,63 401,48e�$445,89 -586,89e�$124,75 
0,017 352,67 �3�$485,41 244,04e�$548,13 -596,71 �3�$62,72 
0,018 485,41 �3�$352,67 62,72e�$596,71 -548,13 �3�$244,04 
0,019 570,63 �3�$185,41 -124,75e�$586,89 -445,89 �3�$401,48 
0,02 600,00e�$0,00 -300,00e�$519,62 -300,00 �3�$519,62 
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')G	�)�DL�*�:)�+�	&��)�F7��VU+�1)S7K'F�)�)+��+7S+��	��1��	�W+�+�
��H�I� G@ )( Tµ � GC )( Tµ �

0,001 D%Q; 3$-%-8� 0,84e$1,03 
0,002 2,44 3$1,58 0,48e$1,25 
0,003 2,81 3$0,75 0,07e$1,33 
0,004 2,91e$0,16 -0,34e$1,29 
0,005 2,72e$1,05 -0,72e$1,12 
0,006 2,26e$1,84 -1,04e$0,84 
0,007 1,58e$�2,44 -1,25e$0,48 
0,008 0,75e$�2,81 -1,33e$0,07 
0,009 -0,16e$�2,91 -1,29 3$0,34 
0,01 -1,05e$�2,72 -1,12 3$0,72 
0,011 -1,84e$�2,26 -0,84 3$1,04 
0,012 -2,44e$�1,58 -0,48 3$1,25 
0,013 -2,81e$0,75 -0,07 3$1,33 
0,014 -2,91 3$0,16 0,34 3$1,29 
0,015 -2,72 3$1,05 0,72 3$1,12 
0,016 -2,26 3$1,84 1,04 3$0,84 
0,017 -1,58 3$2,44 1,25 3$0,48 
0,018 -0,75 3$2,81 1,33 3$0,07 
0,019 0,16 3$2,91 1,29e$0,34 
0,02 1,05 3$2,72 1,12e$0,72 
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